160(d,d’)160

E(level) (keV)| Jn(level) | T1/2(level) E(y) (keV) I(y) M(y) Final level
0.0 0+ STABLE
6049.4 10 0+ 67 ps5 6048.2 10 [E0] 0.0 0
6129.89 4 3- 184 ps5 6128.63 4 100 [E3] 0.0 0
78726 <0.008 [E1] 6129.89 3-
6917.16 2+ 470513 867.7 12 0.027 3 [E2] 6049.4 0+
691556 100 [E2] 0.0 0+
986.93 15 007014 | [E2] 6129.89 3-
7116.85 14 1- 83fs5 1067.5 10 <6E-4 [E1] 6049 4 0+
7115.15 14 100 [E1] 0.0 0+
1754.96 1477 |IML+E2]|  7116.85 1
1954.7 8 467 [E1] 6917.1 2+
887195 2- 125 fs 11 274155 10021 | [M1+E2]|  6129.89 3
28222 12 0155 [M2] 6049.4 0+
8869.3 5 9310 M2] 0.0 0+
220 keV 20
0585 11 . % IT = 6.7E- 2688 11 124 [E1] 6917.1 24
610 9582 11 100 16 [E1] 0.0 0+
% o = 100
O'GékleTV:w 292718 347 [M1] 6917.1 2+
984455 2+ ool 3794.6 12 307 [E2] 6049.4 0+
o o 100 9841.2 5 100 7 [E2] 0.0 0+
WZ?TI‘E\ZI iE 3439 3 100 10 [E2] 6917.1 2+
10356 3 4+ ofl = A 42253 <16 [E1] 6129.89 3
% o100 10352 3 9E-5 3 [E4] 0.0 0+
10957 1 0- 55fs 35 3839.6 10 100 [M1] 7116.85
11080 3 3+ <12 keV
028KkevV5
% IT = 4179.0 17 8120 [E2] 6917.1
11096.7 16 4+ 0.0020 6 4966.0 16 100 42 [E1] 6129.89
% o = 100
71keV 3 4402 4 <09 [E1] 7116.85 1
% IT = 9.4E- 4602 4 4411 [M1] 6917.1 2+
115204 2+ 53 5470 5 468 [E2] 6049.4 0+
% o =100 11516 4 100.0 13 [E2] 0.0 0+
15keV5
12049 2 0+ % IT =? 12044.1 20 [E0] 0.0 0+
% o = 100
91 keV 6
0, =
19440 2 N 0 O/‘ig " 6389.2 23 124 [E1] 6049.4 0+
%p=00 1 12434.8 20 100 [E1] 0.0 0+
%a=9911
3657.7 12 674 [M1] 8871.9 2-
0(;/1}% Ee;/;:? 5412.1 10 24514 | [M1] 7116.85 1-
12530 1 2- s i 5611.8 12 < [E1] 6917.1 2+
o b g5 6398.7 10 100 4 [M1] 6129.89 3
0 12524.7 10 12212 M2] 0.0 0+
13020 10 2+ 150 keV 10 13014 10 100 0.0 0+
64keV 3
%p=14
13664 3 1+ b o
% IT < 0.0015




160(d,p)170

E(level) (keV) | Jm (level) T1/2 (level) E(y) (keV) | I(y) | M(y) Final level
0.0 5/2+ STABLE
870.73 10 1/2+ 179.2 ps 18 870.71 12 100 [E2] 0.0 52+
3055.36 16 1/2- 0.08 ps +6-4 2184.48 20 100 [E1] 870.73 1/2+
38428 4 5/2- <18fs 3842.34 100 [E1] 0.0 5/2+
40 keV 5
3682.7 16 870.73 1/2+
4553.8 16 3/2- %IT ="
%1 =100 4553.1 16 0.0 5/2+
96 keV 5
5084.8 9 3/2+ %IT="
% n =100
<0.1 keV
5215.8 5 9/2- %IT="7
%n="
<1keV
5732.8 5 (5/2-) %1 = 100
6.6 keV 7
5869.1 6 3/2+ %1 =100
32 keV3
5939 4 1/2- %IT ="
% n =100
<1keV
6862 2 (5/2+) %IT="
%n="?
500 keV 50
7559 20 3/2- %n="7
%a="7?
160(d,1)160
E(level) (keV) | IJn(level) T1/2(level) E(y) keV) I(y) M(y) Final level
122.24s16
0.0 1/2- % ¢ =100
51831 1/2+ 5.71s7 51821 100 [E1] 0.0 1/2-
5240.9 3 5/2+ 2.25ps21 523993 100 [M2+E3] 0.0 1/2-
6176.3 17 3/2- <1.74 fs 61749 17 100 [M1+E2] 0.0 1/2-
6793.1 17 3/2+ <20fs 67914 17 100 [E1(+M2)] 0.0 1/2-
6859.4 9 5/2+ 11.1fs17 1618.4 10 100 [M1(+E2)] 5240.9 5/2+
3686 <7 3/2+
L0480 2 25keV'5 % 4303 <7 o I 72
) IT=0.0014 4 % 5238 67 10 ) 5/2+
p =100 10476 100 10 1/2-




